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il v SLIP TEST - Marks: 40
- Date : 16.09.2019 ' MATHS : ; 30 rI"ime 1 1.00 hrb
- L Choose the correct answer: . N (10 x1= 10)
B 1...7 ... Ifad and b are parallel vectors, then [d, & D] is equal to . L
' 12 2) -1 - 3)1 40 .
“The volume of the parallelepiped with its edges represented by the vectors £ + j P+42f,1+ f +7k is
..D— : m— SOw - .@—-
! fa=1+ j+k, b= i+ J, c=zand(axb) ><c Aa+ub then the value of 1 + p is
o ey o AROER 2)1 , 3)6 . 43
4. . If the volume of the parallelepiped with & x b, b X&,8Xd as coterminous edges is 8 cubic units, ther
.~ the volume of the paralleleplped with( d X b) X (b xc), (b x€) x ( ¢ X @) and (¢ x @) x (d x b) as
- coterminous edges is,
1) 8 cubic units - 2)512 cubic units - 3)64 cublc units 4) 24 cubic umts
- Ifd x (b X¢)= (a X b) x & , where d,b, ¢ are any three vectors such that b . & * 0-and b;& 0, the
dand ¢ are '
1) Perpendicular =~ - ‘ ' . 2) parallel
3) mclmed at '"1 anglc - AT 4) inclined at an angle - ‘
- Ifd= 21+ 3j —k b=1 +2]+-k,c=3i+57} —k thenavector perpendlcular to
" d and lies in the plane containing band & is . :
1) - 171+21] ~97k - 2) 17 +21j —123k 3) —17i —21] +97k 4) —171 —21] -97k
. The coordinates of the point where the line 1”'(61 F=3k)+t(—i+7} 7+ 4k)meets the plane
R+ +R)=3are ‘
1) (2,1,0): i 2) (7 —7) o 3) (1,2, —-6) X 4) (5, —1,1) :
‘If the direction cosines of a line are p 22,2 2o then -

" 1)c_i3 : # 2)c—iv*  Be>0 A 4)0<c<1
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, - 9. " If the distance of the point (1, 1,1) from the origin is half of its distance from the plane
' x+y+z+k =0 ", then the values of k are '

ik DE3 2)+6 ' 3) -3,9 4)3,~-9 |
10 " If the length of the perpendicular from the origin to the plane 2x+3y+ Az=1,A > 0 1is %, then the value o
st m2iE )32 3)0 siat v iyl
. IL Answer the following questions: , . ' X | (3x2=0)
e ¢ ' Show that the lines Z;—Z = )-’%3- = f—;—‘t and x—:—s =y—-;4 = -z—:i are coplanar. Also, find the plane containing .
, *these lines. : L :
1 V12 . If the ‘st'_raight lines 1'1'—1- = y__;g = %—3 and 5;1'-3 = Zn:_zz & %E are coplanar, find the distinct real values of m.
© .13, Ifthe straight lines 5% = )-%1 = % and x—;—l = l? = % are coplanar, find A and equations of the planes
' containing these two lines. ' , o S
" IL. Answer the following questions: ’ ‘ - (3x3=9)

© 14. .Find the non — parametric form of vector equation, and Cartesian equation of the plane passing througl
" the-point(0,1,-5) and parallel to the straight lines 7 =(i + 2] -4k) +s(21 + 3] +6k) and 7 = (1 -3j+5Kk) +

- - i(E-k). [ -G | N-¥

15 . Verify whether the line == 222 = 22 lies in the plane 5x -y +z=8. | , |

Jn (K¢ 16. ~ Find the parametric form of vector equation, and Cartesian equations of the plane passing through the
& ~ points (2,2,1), (9,3,6)-and perpendicular to the plane 2x+6y+6z = 9. , ' '

~ IV. Answer the following questions: : , - @x5=15)

*17.. " Find the parametric vector, non — parametric vector and Cartesian form of the equations of the plan-

e oW passing through the three non-collinear points (3,6,'_—2), (-1,-2,6),and (6,-4,-2). _

7 18, .~ Show that the lines # = (-1-3] SF) +s(31 + 5j+7k) and 7 = (21 +4]+6Kk) + (i + 4] +7F) are coplanar.
ST .. . Also, find the non — parametric form of vector equation of the plane containing these lines.

" '19..  Find the non- parametric form of vector equation and Cartesian equation of the plane passing through

. ) ' y x+7 _y+3 _Z-

the point(1,-2,4) and perpendicular to the plane x+2y-3z =11 and parallel to the line TN
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Std  : XTI . SLIP TEST Marks : 40
Date : 04.11.2019 MATHS Time : 1 hr
I. Choose the correct answer: | (10x1=10)
i 'I‘helpercentage error of fifth root of 31 is approximately how many times the percentage error in 31?
T _
a) 5 b) = c) S d) 31
2. If v(x,y) = log(e* + eY), then g—z+ % is equal to
x y 1
a) e*+e b) Fre c) 2 d) 1
3s If f(x,y) =e*, then aiafy is equal to
a) xye™ b) (1+ xy)e* c) (14 y)e™ d) (1+x)e*”
4, If f{x,y,z) =xy+yz+zx, then f, — f, isequalto ‘
a) z-—x b) y—z ) R— 2 d y—x
5. If u(xy) = x% + 3xy +y — 2019, then 2 |, _; is equal to
a) -4 b)-3 c) -7 dy 13
6. If we measure the side of a cube to be 4 cm with an error of 0.1 cm, then the error in our calculation of the
volume is ) |
a) 0.4 cu.cm b) 0.45 cu.cm c) 2 cu.cm d) 4.8 cu.cm
p & The approximate change in the volume V of a cube of side x metres caused by increasing the side by 1%
is 1 : ‘
a) 0.3xdx m?> b) 0.03x m3 ¢) 0.03x%m3 d) 0.03 x3m3

dg .
8. If g(x,y) = 3x? — 5y + 2y?, x(t) = e’ and y(t) = cost, thend—f is equal to
a) 6e%' +5sint —4costsint b) 6e?* —5sint +4costsint

¢) 3e2 +5sint + 4costsint d) 3e?* —5sint +4costsint |
9 The change in the surface area S = 6x* of a cube when the edge length varies from x4 to xp + dx is

a) 21 Ry dx b) 12x,dx c) 6xpdx d) 6xo + dx
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10.

11
12.
13.

18.

19,
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If f(x)= ;%—1-, then its differential is given by

= 1 L §) ZLdx
2) (x+1)2dx ol (x+1)? 6z <) x+1 dx | ) x+1
3x2=6
Answer the following questions: - ( )

Letg(x,y)——2y+x x=2r—s,y=r +2s,r,sER Fin da ¥ri
If u(x,y,z) = xy*z3, x =sint, y = cost, z—1+e ﬁnd——

Let U(x,y,z) = xyz, x =e”%, y = e~ cost, z = sint, t €R. Fmd

Answer the following questions: o = (3x3=9)
If z(x,y) = x tan~ (xy), x = t?, y =se’, S,LER Fmo—a— and — ats =t =1.
If u(x,y) = x*y + 3xy*, =e! and y =sint, ﬁnd — and evaluate it at = (.

A ‘)t Vi ——
Ifw(ey.z) =x*+y*+z5x=e t y=etsint and z = e cost, find & .

(¥ a=15
' X2 S
Answer the following questions: (3 15)

v Uv z-—u+v,quR Fldi"—/,% and
W(x,y,z)=xy+yz+zx, x=u—v, y =Uv, o+

evaluate them at ( 1)

Verify the above theorem for F(x,y) = x* — 2y + 2xy and x(t) = cost,y(t) = sint,
tef02m]. . z
Let g(x,y) = x> —yx + sin(x + ¥), x(t) =e,y(t)=t*, t€ R. Find ET
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